
Stat2470, Quiz #6, Name

lnstructions: Show all .  State any formulas used. l f  you use the tor, you should say which
function you used, and you entered into i t ,  as well as any I can only give part ial correct for
incorrect ans,,ruers if I something to grade.

1".  Find 1:he value

d is t r ibu t ion ,

k that make s f  (x,y)  = 
{Uf, '^ '0 

(  r  (

\d'F 
= Kf ̂ €l- ,,

'd 'n = 5t* - * l l  =

2{x 'Xt  oL- .AHrx=n9 l

0 o'tfur,r-L;-

ion in #L to f ind fx@).

'l = ){t' +: \;
f+- €l = #(t1 *:)

J, I,: k*i'

5J" f  -v j

f , : U

rc
24v

3. A disr:rete joint

f (r,g)

2.  Use the

( t l

,1 J,,

f  (x,v)
x 0

1.
a . Find P(X =

t
0.05
0.09

, 2 < Y < 4 )

5
0.19
0.02

3
0 .11
0.04

2
0.07

9it9

0
o.o2
0.18

4
0.t4
0.03

6 + . o t 4 ' 0 3 =  " 1 3
nal distr ibut ion funct ion fy j) .F ind  the  ma

l)

PE)' r L


